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The question paper is in the form of test booklet. All candidates will be assessed on identical questions.
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1. Tflea o 9 &F 569 & gaw ¢ 32

Which of the following is not the member of class?
(A) ®WR® ®1 / Static function

(B) i B/ Friend function

(C) RRf® ST 1 Const function

(D) muRft H1f /7 Virtual function

. frofifa § v w32
- Which of the following is correct?
(A) SQL & wq: giwidre ®1 gemr g/ An SQL query automatlcally eliminates duphcates
(B) uf R R §37 71 8 df SQL 8 oot 7 em
: An SQL query will not work if there are no indexes on the relatlons
(C) SQL 34 e & 91 & PrRighy & erafy dar §
SQL permits attribute names to be repeated in the same relation

(D)W # I 7181 / None of the above

. FDDI T 3ef 8

FDDI is

(A) Rr9ead 1 Ring network

(B) ¥R ~cds / Star network

(C) 9% 7ead / Mesh network

- (D) 99 3 Aegd / Bus based network

. ﬁeﬁmﬁﬁwm%-

The physical layer of a network
(A)Wamwmwfﬁaﬂaﬁmﬁam%ﬁ%a iU
Defines the electrical characteristics of signals passed between the computer and
communication devices
(B) A& Hya aur 9fg &1 8301/ Controls error detection and correction
(C) S tPpel & AU $3 Aead & HRUR Nodi &
Constructs packets of data and sends the across the network

(D) SuRiad § B1E 76T / None of these

. O[9 374 THM & o B o wifoie aluy 3= 8i$eye darg?
Which logic circuit gives high output when the inputs are same?
(A) AND

(B) Ex-OR

(C)NAND

(D) Ex-NOR
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10.

11.
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ST TG 2479 P RIS A YHMHID FAR?

Find hexadecimal equivalent of decimal number 24797
(A)9AF :

(B)FAS

(C)8BA

(D)98A

Sifar Sy yTe A O T ¥ 3 iy & gaw P ar § YRl $ 3 6 I F1-a8 BT IuRT
fpmeae? \ ‘

Which of these keywords is used to refer to member of base class from a sub class in Java
programming language?

(A) 3R [ upper

(B) R / super

(C) fa= / this

(D) Swiad # § 31 761 / None of the mentioned

fop s F fowe T §

Find which word has odd parity
(A)1111 0011 0100 1101 1100
(B)1111-0110 1101 1011 1001
(C)1110 1011 0110 1101 1000
(D) 1110 0011 0110 1101 1000

UNIX e Hore!
UNIX operating system

(A) AfeegsR / is multiuser

(B) AfeeerfanT/ is multitasking

(C) PC qu1 931 TUITRR UR =il ST qepell &/ can run on PC’s and larger system
(D) SWRIa Tt/ All of these

wrg Afeaq 7 §

Sparse matrices have

(A) 3 I WiAPET/ Many zero entries

(B) e -1 Hfafddl / Many non-zero entries
(C) F=aa¥ 3/ / Higher dimension

(D)SWRIF B ¥ ®15 781 / None of the above

C Wi vret 3 Frafef@a 3 3 o a vw 8t ulad= ersd 3 =6 87

Which of the following is not a correct variable type in C programming language?
(A)TAE / float

(B) Fa@ / real

(C)$e/int

(D)ssd/ double
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13.

14.

15.

16.
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SiTat AT e iR § 9y e S @ @ dwon, Fafor g geerng s g2
Which will legally declare, construct, and initialize an array in Java programming
language?

(A) int myList [] = {5, 1, 9};

(B) int [] mYLISt = {"8", !!7n= nln};,

(C) int [] myList= (4, 3, 2);
(D) int myList [] [] = {2,1,6,0};

Fallg-e-uTgs Gidl fEepp & Ay Py 7 3 feue! 78t «rn o wpar 82
Which of the following can't be done with client-side JavaScript?
(A) U Brf o1 afieRur / Validating a form
(B) 3-Ha gR1 B & fawgasg & 9541/ Sending a form's contents by email
(C) TR R i & fawgasg #1 Seay wrRd § Yeid s

Storing the form's contents to a database file on the server

(D) W § ¥ ®1E &l / None of the above
P-e1gu Sl gaes &l o §

P-type semiconductor means
(A) 5T o siftimdr aur At ey Fruyrd 2

Excess of electrons and semiconductor is neutral
(B) SuaciHi o HHl qur IHfbeae: oy &

Shortage of electrons and semiconductor is neutral
(C) SEFRH @1 fAHT quT YHibSae HUTHD

Excess of electrons and semiconductor is negative
(D) AR DI B 9UT JHH SR 4TS :

Shortage of electrons and semiconductor is positive

grEfas gag & dad 1, Yar aur niifraysmfear eaar TTe o BT S 82

What is the name of the operating system that reads and reacts/responds in terms of
acfual time?

(A) ¥4 YUttt / Batch system

(B) g¥a widfsran qunett / Quick response system

(C) arifdes sTe Wonedt / Real time system

(D) er5H R UOMel! / Time sharing system

T IR ek § § e ad S o O SR Iuam & o arggad fear s
REZIRC |

General purpose computers are those that can be adopted to countless uses simply by
changing its

(AP dS / Keyboard

(B) e / Printer

(C) R / Program

(D)W=l W / Display Screen
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17. SIF 3feliRyH
The SJF algorithm
(AT H g T 1T P Ugd A gl

Executes first the job that last entered the queue

(B) o H W& URS 1T BRI 1 U Dl o
Executes first the job that first entered the queue

(C) 3ifa 1 T HaRaH Tl & T BT &7 U6 Heal 31
Executes first the job with the least processor needs

Dy H sfa i @ e H g FRaATRI

Executes first the job that has been in the queue the longest

18. 3ifoeTe tfRreeR & IR § Pofifed § ¥ o 1 e 96l 87
Which statement is correct about operational amplifier?
(A) I I YL TR T I eiTeeye iRy 8

It has high input resistance and high output resistance
(B) 3 3 5eige TieRre qut i airgeye ufekiy 8

It has low input resistance and low output resistance
(C) S S gy wickiy quT g engeye uiRiy §

It has high input resistance and low output resistance
(D)3g8 g geige ufedy aur 3= eiidheye ulady §

- It has low input resistance and high output resistance

19. WPA2 ] Y&l 3 # AT fépar SiTer B
WPA2 is used for security in
(A) Y3 / Ethernet
(B) &g / Bluetooth
(C) 3-% 7 Wi-fi _
(D) 3uRiad § B 81 / None of the mentioned

20, C ¥ PR Rravor 3 Rt ¥ o1 S TR P 9 Few P awiar s

What number would be shown on the séreen after the following statements of Care

executed?
char ch;
int 1;
ch="'G",
i=ch-'A";
printf("%d", 1);
(A)S
(B)o6
(O)7
D)8
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frafefad gt & few afa wgfd &is @

The most appropriate matching for the following pairs:

X : afuces Galeq / Indirect addressing l.qa/ Loop

Y : GebTd "areq / Immediate addressing 2. UIRieR / Pointers

7, ; +rcy 3forte 9l / Auto decrement addressing 3. fRi% / Constants

(A)X-3,Y-2, Z-1
(B) X-1,Y-3,2-2
(C)X-2,Y-3,7-1

(D)X-3,Y-1,2-2

22.

23.

24,

$e¥e URL & efu Saa S (TLD) ‘org’ T faffirg e 89

What does the term top level domain (TLD) ‘org’ represent in Internet URL?
(A) WY TS/ Profit Organization

(B) TR &Y GWa+1 / Nonprofit Organization

(C) 9a™ / Community

(D) §¥pI} W18 / Government Organization

OOPS & ®IF At - F1 o2l § IR B Hadt HTIH I 17

Which of the following concepts of OOPS means exposing only necessary information to
client?

(A) SCIHT G / Encryption of data

(B) Sc19EIST / Data binding

(C) er 87317 / Data hiding

(D) SWRIad H I3 61 / None of the mentioned

mm“ln—s”mmsﬂnaﬂﬁﬁﬁaﬁ@ﬁﬁw@m%?

When you use the “In —s” command, which of the following occurs?

_(A) 7@ BIEa &1 go &1 § Sl adiH bR Hr g

A file is created that points to an existing file

-(B) U B30 &1 golH Bia1 8 S gur wiga o ufafaify grft

Afile is created that is a copy of an existing file
(C) U UM ¥ R | R BIEd |HARd gl 71
A file is moved from one location to another

(D) BISd & T A1y v s g

A file is renamed

25. G Tior § gR o & wies # Ry fear smar 8 ’dy HEd 6!

In a relational schema, each tuple is divided into fields called
(A) Rei=rF / Relations

(B) SIS / Domains

(C) 9 / Queries

(D) Swiad H ®1E 716l / None of these
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26. guitTet guT Uaie $Higcy @I 3R & i sk Iwiie $1s 8
The most commonly used code to represent alphabets and punctuation characters is
(A)BCD
(B) ASCII
(C)EBCDII
(D) 3WRIad ¥ I Bis 151 / None of the above

27.3918 2x + 3y =5xy, @ (dy/dx) Sd15¢
Let 2x + 3y =5xy, Find (dy/dx)
(A) (3-5x)/(Sy-2)

(B)(2+3)/5
(C) (2-5y)/(5x-3)
(D) 5/(2+3)

28. AfaRUT F GRA
During vahdation

(A) Wi o1 wife 1 WKl § / Process is chocked

(B) IS &t Wird @1 Sk § / Product is checked

(C) Saaw & Fs1gT o7 Feaias= {521 S © / Developer’s performance is evaluated
(D) IRl | %15 78! / None of the above

29. FApffRd ST o &7 sireheye T 82
What is the output of the following Java pro gram?
class StringTest {

public static void main(String args{])
{
String obj = "hello";
String objl = "world";
String 0bj2 = "hello™;
""" System. ouf. prim"lﬁ(o'bj. equals(objl) + " " + o'bj. equals(obi2)); =
}

(A) BT BT / false false
(B) S § / true true

(C) BT § / false true

(D) S WY / true false
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30. HIFET B1 Tb TBI UgL &
An important aspect in coding is
(A) Yo-itadi / Readability
(B) Sa@readr / Productivity
(C) gy Bier AUR] WY &7 STHRT HAT
To use as small memory space as possible

(D) sfafe / Brevity
3. gRFeR A oamie &

In a transistor emitter is

(A) offdep s1q fpar a1 / Heavily doped

(B) @4 S1Y a1 711 / Lightly doped

(C) Sy 8! fopar 71 / Not doped

(D) 9IYRUI &4 ¥ 1Y f&a1 TR1 / Moderately doped

32, WedR ToFRfa o1 ger 3T ¥
Software engineering primarily aims on
(A) fasarg AieaTR [ Reliable software
(B) ST WHTE! F1UEaaR / Cost effective software
- (C) TasrgiadT quT rTd UM WU / Reliable and cost effective software

(D) IWidd H ®Is 75t / None of these
33, froot GREIY® &0 RT 87

By default, what is /root?

(A) =T hiEd R / root file system

(B) ¢ goR & 819 S18¥aest / home directory of the root user
(C) U Sgvaes) forud wEaines & mif spteedt §

the directory which contains all the directories of the file system

(D) SRI § &I 781/ None of the mentioned
34, fg-georenfdnr & fe Fofafeg s arag g2

Which of the following is true for two-phase locking?
(A) fgela aRor ¥ @i Wit / Lock acquisition is the second phase

(B) @i® @ fodlt ot g a1fSfa far s wdar § 7 Locks can be acquired at any time
(C) w9l H oliep &) offSla far smar g / Locks are acquned in the first phase
(D)3 § $I% 781 / None of the above

35, e A, AKIah ©U g ﬁq—s%r%
By default, kernel modules are present in
(A) /lib STe¥Eest / /lib directory
(B) /root SI5¥FR / /root directory

(C) /boot BRI / /boot directory
(D) Wi # @15 761 / None of the mentioned
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37.

38.

39.

40.

41.
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QI dTR [es 1 T TuT =0 &4 91 87

‘Which one is first phase of software development?

(A) SagH e [d%dw0T / Requirement analysis
(B) f&uirg / Design
(C) @& / Coding
(D) wsteur / Testing

frofefaa 7 3 giada e of ga)
Find Universal gate from below
(A)AND

(B) NAND -

(C) NOT

(D) Ex-OR

T 3a fafder ERUEIRY]

A good specification should be

(A) 3fe™ / Unambiguons

(B) W w4 § fafAfés / Distinctly specific
(C) @@ / Functional ,

(D) 3w # &15 781 / None of these

256Kb P HARY &1 I JuTS P & 1o e 32k x 1 RAM R0 31 sa=adsar 87
How many 32k x 1 RAM chips are needed to provide a memory capacity of 256kB?
(A)8 '

(B)32

(C) 64

(D) 128

HTML & (e wea &

HTML tags define
(A) SIS & $2T €15 & ol @1/ The data types of elements of document

(B) t& gxarg o1 fafféy ol &1 wedfi®<ur / Presentation of specified elements of a
document

(C) TR % f@wuax] / The contents of the document
(D) geqrasl &l 9eg-T / The structure of the document

<tr>,<td> and <th> & R g@I FeR e
Main container for <tr>,<td> and <th> is
(A)<group>

(B) <data>

(C) <table>

(D)THl 7 All of these
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42.

43.

44.

46.

& & e e Ser e Yol o Ot 8o
Which is the fastest data transfer mechanism ?
(A) WG 1/0 / Programmed 1/O

(B) $e3¥ I/O / Interrupt /O

(C) DMA

(D) 3WRiad & Pl a1 / None of these

SEARRIR N g fopan ST 8|
Acceptance testing is done by

(A) STA / Developers

(B) W& / Customers

(C) ufkerorpaf / Testers

(D) IuRlad g1/ All of these

e fearll v vy e © fore

A data dictionary is a special file that contains

Question Booklet Series - B

(A) G wgal § 9t wies! o1 99 / Names of all fields in all files
(B) T4t mrgel © ol wiesi & SICI ™Y / Data types of all fields in all files
(C) T} wrgal & gt Wit ot Deis / Widths of all fileds in all files

(D) IwRiad gt / All of these

745.'61@’@'617[ “f* egfr & Te BT § 99 ITH el Sl o g7

What is the energy possessed by a photon while it moves with a frequency ‘f*?

(A)E=1f/h
(B)E=h f
(C) E=h/f
D) E=1/(h 1) .

oREwa___ dudfm g
The data-link layer is concerned with the
(A) fore T0wor SR / Bit transmission function

(B) 9T d0yur %1 / Packet transmission function
(C) T - Iuw faeid / Re-transmission delay

(D) $e1 %1 g / Encryption of data
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47, FafafET § 1 91 a1 98t 87
Which of the following statement is correct?
(A)TE 9% ! 9ron & gag Faforedal o garr g
A constructor is called at the time of declaration of an object.
(B) T g T SUNT 7 9 G Rnforepeft b7 germ S &
A constructor is called at the time of use of an object.
(C) 97 & run % ww G FHfured @) garr s g
A constructor is called at the time of declaration of a class.
(D) & & IuANT & T Ve FHwiorepal Sarr S 31

A constructor is called at the time of use of a class.

43. Frafafad PHP 18 $7 $iig:cqc 1 g1 |
What will be the output of the following PHP code?

< ?php
Sa=235;
$b=5;
echo ($a === 3b) ;
7>
A) 5 ===
B)1
C) Error
D) False

49, XML 39aRT e §
XML uses
(A) wavaT (uifa ¢/ User defined tags
'(B) gd-Meifka ¢/ Pre-defined tags
(C) gd-Frefffe a i Fefifa 31 €M1/ Both pre-defined and user-defined tags
(D) HTML ¥ Sogad faegd < aur 37 e gyrasmel st 81/ Extended tags used in
HTML and makes them powerful

50. B1ed fire F3 & o g FHwie &1 S Hd 87
‘Which command is used to print a file
(A) U= / print
(B) ptr
(C) lpr
(D) IR & BT gl / None of the above

51. sieRuferar R
Interprocess communication
(A) PHI STIRTD Gt / is never necessary
(B) wfsrarsit &1 Twaierd @il 8 / allows processes o synchronize
(C) i wftharali & foIu efa=a® / is required for all processes
(D) f&%% S15d gR1 9H=Ia: a1 S| 8 / is usually done via disk drives
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52. Topgiomes & WrgwR a1 87
' In cryptography, what is cipher? :
(A) TARB qUT fSIb T B 8 Sieiiiveny
Algorithm for performing encryption and decryption
(B) wAlhVs HamT/ Encrypted message
(C).(a) 7UT (b) &1 / Both (a) and (b)
(D) IRIad § o515 981/ None of the mentioned

53, TSP IURRR H, oM orgew R erffag o & o1 H ufya fm onar g
In a microprocessor, the address of the next instruction to be executed, is stored in
(A) ¥& uiffex / Stack pointer
(B) TS9 & / Address latch
(C) WU ®1%h< / Program counter
(D) "HI 3E=T 3MoReR / General purpose register

54. wrafers Them B FEd §
Functional testing is known as
(A) YaTHE wiar / Structural testing
(B) SRUTES U801 / Behavioural testing
(C) ufcmr adi&io / Regression testing
(D) SUR1ad § %1% el / None of the above

55. g-c G180 & T fergd g H1avad SIaRes BIS &1 Fed ¢l
The overhead code required to be written for unit testing is called
(A) SIgaR / Drivers '

(B) ¥sH / Stubs
(C) Wp1PIfeET / Scaffolding
(D) Swiad § @18 T8l / None of the above

56. QiR ga-ite fo9d SM193ae gaHiel o1 snavasant -8l gl
The searching technique in which there are no unnecessary comparisons is called.
(A) a3 TffT/ Binary searching
(B) HiesfRraa Gt/ Sequential searching
(C)8RiT/ Hashing :
- (D)3Wis A &3 ol / None of these

57. VoIP @7 aref &
VolIP stands for 7
(A) SIRIFH WIS Td W 3M1aTSl / Voice over International Protocol
(B) Se¥c Ulcidld IR Sarst / Voice over Internet Protocol
(C) SfRiPH Uicisie TR dif$ar/ Video over International Protocol
(D) $e¥e Ui id W 4if&al / Video over Internet Protocol
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58. fiftrag *-+ab-cd F URelbad IHF §
The postfix equivalent of the prefix *+ab-cd is
(A)ab+cd-*
(B) abed+-*
(C)yabtcd*-
(D)abt-cd*

59, C UM & qWelddd GHIG TR TRITer SUITE o1 a1y o &7 ) Oed 97 §
What is the correct value to return to the operating system upon the successful
completion of a C program?
(M1
(B)-1
)0
(D) ®rdewH god & 9199 8! &3al/ Program does not return a value.

60. SH IS A= 0011 0101 1001 1100 HT2’s HifterHe 1 87
What is the 2’s complement of this word, A= 0011 0101 1001 1100
(A) 1100 1010 1110 0100
(B) 1100 1011 0110 0100
(C) 1100 1010 0110 0100
(D) 1100 1000 0110 0100
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Rough work
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